= O
N 2 0l & AF S E A A
200909 = =& 3 3 LEts|H SAFMY ~ SHH MY
SN BT
B HDISNA2 BN TS (BELE/HIIS)

&2 HIISHM2AEEXIAS (etel: =@
SN EB -GS - MBAY - BES 0] &F o p/E-T" HRE2
SZE M 63,360,248 68,327,821 AN4,967,573

= 40,120,223 46,551,931 26,431,708

s 8,453,000 8,453,000 0

= 14,787,025 13,322,890 1,464,135

HOISMH=EMARS(BZES/HIIE) 40,247,960 45,197,960 24,950,000

= 36,179,300 42,629,300 26,450,000

= 4,068,660 2,568,660 1,500,000

HOI 2™ AEE XA 31,296,000 34,296,000 23,000,000

= 28,041,000 32,541,000 24,500,000

S 3,255,000 1,755,000 1,500,000

HI P M0 E Al E ZHIAHY 2,050,000 2,550,000 500,000

= 2,050,000 2,550,000 500,000

403 XX SHMSA20lH 2,050,000 2,550,000 500,000

= 2,050,000 2,550,000 500,000

01 MXISMA=2E = 2,050,000 2,550,000 500,000

CIHI I MO E A S H YA

23 2,050,000,000& 2,050,000 2,550,000 A500,000

= 2,050,000 2,550,000 A500,000

AMLEHIISHEZEE LAY 0 4,500,000 24,500,000

= 0 4,000,000 24,000,000

= 0 500,000 A500,000

403 AXIHHSK=201H 0 4,500,000 24,500,000

= 0 4,000,000 24,000,000

S 0 500,000 500,000

01 RXSHMA2E = 0 4,500,000 24,500,000

OMSEHIISHS EES LA (MWL) 0 4,500,000 24,500,000

= 0 4,000,000 24,000,000

& 0 500,000 A500,000

AMHAEHIISHEZEELALLY 2,000,000 0 2,000,000

403 AXIHHSK=201H 2,000,000 0 2,000,000

01 XM= E X 2,000,000 0 2,000,000

OAISEHIISHE E 22 AL 2,000,000 0 2,000,000

HIOISHEEYLSA 2 X 5,351,960 6,101,960 A750,000

= 4,538,300 5,288,300 A750,000

= 813,660 813,660 0

= diJI ™ el A& & XA 1,238,000 1,988,000 A750,000

= 1,238,000 1,988,000 A750,000

403 AXHHSK=01H 1,238,000 1,988,000 A750,000

= 1,238,000 1,988,000 A750,000

01 AXEHMA2E X 1,238,000 1,988,000 A750,000
OSASFHIISSSXANEEI AL

23 1,238,000,000& 1,238,000 1,988,000 A750,000

= 1,238,000 1,988,000 A750,000

HOIS X2 SHAHY 3,600,000 4,800,000 21,200,000




SN EBRTEY
o HIISNEESHATE (RS SS/HIIZ)
A

SRl HIIS AR S ALY (etel: =3
SNBSS - MBAY - BES 0 & 24 pJE-T {imE=Eh
= 3,600,000 4,800,000 21,200,000
NHHAEHIISH ™ AlE 1,350,000 2,550,000 A 1,200,000
= 1,350,000 2,550,000 A 1,200,000
403 A XIEHSXH=01H 1,350,000 2,550,000 21,200,000
= 1,350,000 2,550,000 21,200,000
01 MXIEMA=ZE = 1,350,000 2,550,000 21,200,000
OotAEHIISE el Al &
23 1,350,000,000& 1,350,000 2,550,000 A 1,200,000
= 1,350,000 2,550,000 A 1,200,000
NS ATL(BEES/UII) 3,665,187 3,692,324 AN2T7,137
= 2,385,423 2,367,131 18,292
S 1,279,764 1,325,193 A45,429
gFg=sE 2l 706,687 683,824 22,863
= 474,423 456,131 18,292
S 232,264 227,693 4,571
S EJZZANHAHRSE 248,027 225,164 22,863
= 198,423 180, 131 18,292
< 49,604 45,033 4,571
308 NXIHHSOIH 157,261 175,164 A 17,903
= 125,809 140, 131 A 14,322
= 31,452 35,033 A3,581
01 MXEMISELS 157,261 175,164 A 17,903
OAI M2 S XA (S ZZAMMATE)
&3 157,261,000 157,261 175,164 A 17,903
= 125,809 140, 131 N 14,322
< 31,452 35,033 A3,581
403 A XIEHHSXH=01H 90,766 50,000 40,766
= 72,614 40,000 32,614
= 18,152 10,000 8,152
01 TUXIEHMAZE = 90,766 50,000 40,766
OSAIEMSEX X (SR AZAMARE)
Z& 90,766,000 90,766 50,000 40,766
= 72,614 40,000 32,614
= 18,152 10,000 8,152
Jl=HelgAUS 435,000 485,000 /50,000
= 230,000 230,000 0
= 205,000 255,000 A50,000
EAZOIENAIEAS 50,000 100,000 250,000
308 NXISHHMSOIH 50,000 100,000 A50,000
01 MXEHINELS 50,000 100,000 A 50,000
OESSFEEATQIETAIE AL
Z& 50,000,000 50,000 100,000 250,000
HHE2IZH(BIE A (OIEH/IIE) 414,605 424,605 A 10,000
Jl=2dHl 285,225 295,225 A 10,000
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